11”90 (Kl 17%90)

Linearized knot diagam

Solving Sequence

16—>2-—>53—>58—>4—>11—>7—>10—>9 —>> (3,C6,C8
A knot diagra ¢t C2 G €4 Ci1 Cr  Cio O T

Ideals for irreducible component#ﬂ)f Xpar
I' = (—1238113u® + 2413455u* 4 - - - + 2221939b + 1586090,
4519597u% — 816584u** + - - - + 13331634a — 13110217, u?5 — 24 + ... —u + 3)

Iy =(b—1, a*> —2au+2a+u—2, u?> —u+1)
=0+, a—u—1,u*>+u+1)

* 3 irreducible components of dim¢ = 0, with total 32 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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106u25 _

(i) Arc colorings

ai

ag =

a9 =

as

as =

ag =

ay

( 0.237944u25 + 0.0813342u24 + - - -
ag =

()
!
)
=)
o)

0.339013u2® + 0.0612516u>* + -

(
(
("
(«
( 0.557222u2° — 1.08619u2* +- -
- (o
= ("
(
e
.- (°

0.254668u2> + 0.460389u?* + -
0.0489476u?5 — 0.702694u>* + -

0.321877u2° + 0.0594569u4 + -
681651u25 +1.22699u2* + -

5+u +u )

—0.359774u?® + 1.28645u2* + -
0.681651u2% + 1.22699u24 + -

0.237944u25 + 0.0813342u2* + -
0.616774u® + 1.26410u* + -

—0.616774u2 + 1.26410u24 + - - -

(ii) Obstruction class = —1

(iii) Cusp Shapes =

~ 2221039 ¥

1151955 25_|_ 814709
2221939

L
I = (—1.24 X 10%u?5 4 2.41 X 10524 4 - - . + 2.22 x 10°b 4 1.59 X 10°, 4.52 X
8.17 X 10°u?* 4 .- 4+1.33 X 107a—1.31 x 107, u?® —

-+ 0.0332859u + 0.983392
-+ 1.41616w — 0.713831

— 3.72725u — 2.65550
-+ 2.91017u — 0.764005

— 3.45009u + 0.683981
—0.0147380u + 0.770149

— 3.46483u 4 1.45413
—0.0147380u + 0.770149

- —2.32111u + 1.17821>

-4 0.644379u 4 1.01704

—2.32111u + 1.17821
+ 0.644379u + 1.01704

44 ... _ 5153343, 28973115
2221939 2221939

2u25+...



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs u® —2uP . —u+3
C2 u?® +16u®® + - —43u + 9
C3,C4,Cs ul +uP o —8u—4
Co u?® 4+ 2u% ... —13u+3
c7,C11 w4+ 3uP+ 42203
€9 u? —u® 4. —32u—4
C10 u?% 4+ 33u® + - +64u+9




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,Cs y? 4+ 16y*° - — 43y +9
C2 Y0 — 8y?® + ... — 7123y + 81

€3, ¢4, Cg Y0 +21y*° + .- + 64y + 16
Co Y0 —32y%° ... — 18Ty +9

c7,C11 y26 —33y25+--~—64y+9
C9 y? —39y%° + ... — 128y + 16
c10 y%0 — 73y%° + ... 435108y + 81




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

U 0.987320 + 0.1682141
a 1.297460 4 0.5130527 | —5.22414 — 5.393381 | —6.45106 + 2.822731
b= —1.63497 — 0.201811
uw= 0.987320 — 0.1682141
a= 1297460 — 0.5130521 | —5.22414 4 5.393381 | —6.45106 — 2.822731
b= —1.63497 + 0.201811

u = —1.01037

a = —1.32902 —9.37437 —9.45940

b= 1.68442

= —0.541900 + 0.7982421
= —1.229580 — 0.6300851
0.190153 + 0.1811871

4.95516 — 2.197641

0.54342 4 3.862131

—0.541900 — 0.7982421
—1.229580 + 0.6300851
0.190153 — 0.1811871

4.95516 + 2.197641

0.54342 — 3.862131

0.280901 + 0.9197461
= 0.066362 — 0.2660601
= 0.270359 + 0.4426431

—0.60039 + 1.429121

—6.05587 — 3.687081

= 0.280901 — 0.9197461

= 0.270359 — 0.4426431

—0.60039 — 1.429121

—6.05587 + 3.687081

—0.086149 + 0.9390731
1.12447 4+ 1.413611
1.170170 — 0.263604.1

1.87196 — 0.466481

—9.69334 — 0.393771

—0.086149 — 0.9390731
1.12447 — 1.413611
1.170170 + 0.2636041

1.87196 + 0.466481

—9.69334 + 0.393771

—0.714585 + 0.8481701
= 1.111130 + 0.8715481

u
a
b
u
a
b
u
a
b
u
a= 0.066362 + 0.2660601
b
u
a
b
u
a
b
u
a
b= —1.336900 + 0.0077191

—0.16795 — 2.705261

—6.45261 + 3.543991




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —0.714585 — 0.8481701
1.111130 — 0.8715481
—1.336900 — 0.0077191

—0.16795 4 2.705261

—6.45261 — 3.543991

0.409972 + 1.0427401
= —0.333921 + 0.0082021
0.687191 + 0.4747501

—0.71901 4 1.359281

—6.71358 — 0.210491

= 0.409972 — 1.0427401
= —0.333921 — 0.0082021
0.687191 — 0.4747501

—0.71901 — 1.359281

—6.71358 + 0.210491

—0.232752 + 1.1108001
—0.406380 + 1.1436801
—0.979109 — 0.5717421

—3.76323 — 2.263831

—13.05428 4 2.022081

—0.232752 — 1.1108007
—0.406380 — 1.1436801
—0.979109 + 0.5717421

—3.76323 4 2.263831

—13.05428 — 2.022081

0.432711 + 1.1877401
0.517506 + 1.2682901
0.659883 — 0.8669421

—0.86443 + 6.415671

—7.45843 — 6.376381

0.432711 — 1.1877401
0.517506 — 1.2682901
0.659883 + 0.8669421

—0.86443 — 6.415671

—7.45843 + 6.376381

0.683039 + 0.0714981
—0.81507 — 1.504321
0.587913 + 0.6472971

2.38839 — 2.216581

—3.00360 + 3.591991

0.683039 — 0.0714981
—0.81507 + 1.504321
0.587913 — 0.6472971

2.38839 + 2.216581

—3.00360 — 3.591991

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

0.576371 + 1.2693101
= —0.02214 — 1.671561
= —1.66528 4+ 0.319961

—8.60064 + 11.027401

—8.81919 — 5.784251




Solutions to I}

V=1(vol + y=1C)

Cusp shape

0.576371 — 1.2693107
a = —0.02214 4+ 1.671561
b= —1.66528 — 0.319961

u =

—8.60064 — 11.027401

—8.81919 + 5.784251

u= 0.376370 + 1.3433101
a = —0.157273 — 0.6435321
b= —1.74770 — 0.069291

—10.10760 — 0.683481

—10.33009 + 0.337481

u= 0.376370 — 1.3433101
a = —0.157273 4 0.6435321
b= —1.74770 4 0.069291

—10.10760 4 0.683481

—10.33009 — 0.337481

u = —0.49655 + 1.328341
a= 0.015741 — 1.1944501
b= 1.76275+ 0.153351

—13.5263 — 5.35911

—12.04516 4 3.160641

u = —0.49655 — 1.328341
a= 0.015741 4 1.1944501

—13.5263 + 5.35911

—12.04516 — 3.160641

b= 1.76275 —0.153351

u = —0.339124

a= 1.65907 —0.865956 —11.4730
b= —-0.613341




IL Iy =(b-1,a*—2au+2a+u—2, u ! —u+1)

(i) Arc colorings
1
ay = O
aeg =
a9 =
az =
as =

ay4 =

—au+u—1
au —a+2u—1

(
(
(
(
-
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u — 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, (u? —u+1)2
Ca2, Cs (u? —|—u+1)2
C3,C4,Cs (u2+2)2
cy
7 (u+1)*
€10, €11 (u—1)*




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y2+y+1)2
Ce
C3,C4,Cg (y+2)4
Cy
C7,C10, C11 (y — 1)4

10



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.500000 + 0.8660251
= 0.724745 + 0.1589191
= 1.00000

3.28987 + 2.029881

—6.00000 — 3.464101

= 0.500000 + 0.8660251
= —1.72474 4+ 1.573131
1.00000

3.28987 + 2.029881

—6.00000 — 3.464101

= 0.500000 — 0.8660251
= 0.724745 — 0.1589191
= 1.00000

3.28987 — 2.029881

—6.00000 + 3.464101

= 0.500000 — 0.8660251
= —1.72474 — 1.573131
= 1.00000

3.28987 — 2.029881

—6.00000 + 3.464101
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L Iy =(b+1,a—u—1, u* +u+1)

(i) Arc colorings

= (3)

o= (1)

v (ut)
o= ()
o ()
e (1)
o= (uh)
o= ("57)
- (3)

o (5)
e (1)

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u — 10
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2 1
C1,C2, Cg u® +u—+
€3,C4,C8 u?
C9
] u? —u41
2
C7,C10 (u — 1)
2
C11 (u + 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
61762365 y2+y+1
Ce
C3,C4,Cg y2
Cy
2
¢7, €10, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y=1C)

Cusp shape

u = —0.500000 + 0.8660251
a = 0.500000 + 0.8660251
b = —1.00000

—1.64493 — 2.029881

—12.00000 + 3.464101

u = —0.500000 — 0.8660251
a = 0.500000 — 0.8660251
b = —1.00000

—1.64493 + 2.029881

—12.00000 — 3.464101
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u? —u+ D)W +u+1)(u?® —2u® + - —u+3)
C2 ((u® +u+1)3) (w5 + 16u + -+ — 43u + 9)

C3,C4,C8 u?(u? +2)%(u® + u® + - — 8u —4)

Cs (w? —u+ 1D +u+1)%w? —2u® + ... —u+3)
C6 (u? —u+ 1)) (W? +u+ 1) (1 + 2u® + - — 13u + 3)
cr ((u— 1)) (u+ D)*(u®® + 3u®® + - - + 22u — 3)
€9 u?(u? +2)%(u? —u® + - — 32u —4)
€10 ((u—1)%)(u?® 4 33u® + - - - + 64u + 9)
c11 ((w— 1)) (u+ 1)%(u®® + 3u® + - - + 22u — 3)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, 5 (> +y+1)°)(y*° + 169> + - — 43y +9)

“2 (> +y+1)%)(y* —8y*® +--- — 7123y + 81)
C3,Ca, Cs vy +2)* (% +219%° + - - - + 64y + 16)

“ (1 +y+1)°)(y*° = 329" + - — 187y +9)
7, c11 (y— 1)) (y*® — 33y +--- — 64y +9)

Co y?(y + 2)*(y*° — 39y*° + .- — 128y + 16)

c10 ((y — 1)%)(y*® — 73y*® + --- + 35108y + 81)
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